No. 1 ZF  100m FikFE FiE No.3 Z¥F 100m HHEE FiE

IBs0%% 1:10. 61 £534% 1:10.89 Bsps%  57.18 £i0fk 58.86
148 EHIE B 1# EHIE A ]
1. 8Xx%M=ZF W LEE ) 10 9 1:48. 41 1. ( )
2.8 xB (W LEE ) 12 3 1:30.14 2. ( )
3. AAXRMIF W.LEHE ) 13 6 1:37.75 3. ( )
4. v ik (W LEEE ) 12 4 1:33.90 4. B)Il @ (mETHSK ) 19 3 1:29.92
5. 4 HEE (£HFEsc ) 11 1 1:21.70 5. M EwH (#52sc ) 10 2 1:24.77
6. kA =T W.LEE ) 11 2 1:30.08 6. 5K ¥& (A % EH#F ) 10 1 1:20.03
7. A EfE (KTPD%H ) 12 5 1:36.59 7. &M E O (#52sc ) 10 4 1:32.48
8. MA EB=E (a/nuAR)L ) 11 8 1:43.83 8. ( )
9. Bk BN (KTP7zIFA ) 15 71 1:40.50 9. ( )
2%# 58 E#FE] 2#8 EHIE A ]
1.2 e (BEWFHYTF7 ) 16 5 1:26.0 1. iEcKEFI (£5sc ) 11 9 1:19.82
2. &Nl =E (&HFESC ) 15 6 1:26.50 2. H# E (BBLWFH7 ) 11 3 1:111.74
. XK EZ2 (BIKfeHsES ) 17 4 1:23.73 3. kEfhEoE (BHEWLWFHYTFT ) 11 1 1:18.05
4. FX ¥EE WLEE ) 12 3 1:22.24 4. ¥ Bt (wFEmHAXK ) 23 6 1:17.19
5. R FII (EFEKX ) 22 1 1:12.54 5. N EEZE O (asvAN)L ) 10 2 1:10.77
6. ;HE ¥=E (WLEE ) 14 2 1:17.75 6. FE Dk (BELWFH7F ) 11 1 1:10.60
7. BRFALUE (KTPD5A ) 13 7 1:26.53 7. AIWWEFEE  (FHHAEEZESCLKL ) 10 8 1:19.45
8. WHE HBE (FdEH7HP 12 8 1:28.52 8. A FEWN (BEWLWFHF7 ) 10 4 1:13.55
9. @B 2T (FdH7HP 15 9 1:28.71 9. FH kit (KTPD2%A ) 12 5 1:15.72
No. 2 BF 100m FEkFE &
IBs08% 1:00.98 £5248% 1:01.82
14%H & IE R 3#8 & E ﬁﬁ
1. ( ) 1.8 £ (¥5Zsc ) 14 6 1:09.9
2. ( ) 2. 5iEA EH (EHEESc ) 18 7 1:10.58
3. ( ) 3. /AR EH (3NUEH ) 12 1 1:07.25
4. KA XK (KTPD3A ) 13 3 1:39.86 4 REHHS (KTPDABM ) 13 5 1:09.44
5. 5 MK (¥#5Zsc ) 10 1 1:31.65 5. @A HE (FHEHM7H7) 12 4 1:09.38
6. AR BWE (BELWFHY7 ) 9 2 1:33.47 6. &tJiIl #EE (#5Zsc ) 13 2 1:08.98
1.8 B (#52sc ) 10 4 1:56.31 7. IR E (BBWFHT ) 12 3 1:09.32
8. ( ) 8. ;e E (KTP2%HA ) 12 9 1:11.18
9. ( ) 9. IEX B (EBIKXEHS ) 16 8 1:10.72
2%# EIE By [ 44 EHIE A ]
1.2TFT BE (/iR ) 11 71 1:28.17 1. 882 = WLEE Y 12 9 1:08.47
2. RBXREE (/xR ) 12 EE 2. HE B (BIKXEHS ) 15 8 1:06.59
3. BA BEK  (HLKIZFZHYTF ) 11 5 1:16.56 3.0 #% (a2 ) 13 4 1:04.13
4. 1B KIE (GBI KEHS ) 15 1 1:09.72 4. EB A (FHAEZFEASACWL ) 15 1 1:02.69
5. %#F T (/8 vXRJL ) 15 2 1:10.14 5. BA TR (38R ) 13 2 1:02.76
6. E# ®ix (&H¥ESsc ) 15 3 1:13.78 6. EM MW W LEE ) 15 7 1:05.39
1. T8 HR"E (£HFESC ) 14 6 1:18.01 1. %EB BB (WLEE ) 15 3 1:03.68
8. #iHE s (BBLWFYT7 ) 13 4 1:13.93 8. HHE #AfE (W.Lm% Y 14 5 1:04.64
9. ERK%E (KTPfI+5 ) 11 8 1:34.85 9. B BN (W LEE ) 12 6 1:04.73
No. 4 BF 100m HEF FiE
Bsps%  50.72 SEcsk  50.84
3#H ] B 148 &EIE B
1. Z=g #® (WLEmE ) 14 8 1:11.50 1. ( )
2. 5B %A (&HZEScC ) 14 6 1:09.26 2 ( )
3. FA #EKRK (EBIKEH= ) 15 4 1:07.24 3. ( )
4 ZH BE GEIKEHS ) 16 2 1:04.23 4. ¥XH WR¥E (F52sSsc ) 9 2 1:36.19
5. 1udh ##E (EEE Y 31 1 1:03.49 5 HE #|BK (BHELWFHY7F7 ) 12 1 1:30.59
6. iy —# Uy ) 29 3 1:05.03 6. 5H £ (KTPfI+s ) 10 3 1:46.89
1. % # (&@H¥ESsc ) 15 5 1:07.52 7 ( )
8. MK {AD (EHFESC ) 17 9 1:12.54 8 ( )
9. @ &EHE (HES y 17 7 1:10.57 9 ( )




N.4 BF 10m HBHHEFE T
Bsps%  50.72 £i0Ek 50.84
2% EIE B ] 7%8 HIE i35
1. ( ) .80 K (£#5Isc ) 14 8 55. 74
2. RE EZ (#HEs ) 15 6 1:29.52 2. INE m (FFAEEALCLY ) 13 6 55. 38
. @K i (¥52sc ) 10 3 1:23.86 .HE A (BEWFHYT ) 18 1 55. 52
4. 1By EE (W LEE ) 10 EiE 4. XA ER (BHIEXRE ) 19 4 54. 69
5. KA ®FE (38X ) 11 1 1:13.91 5.k  ZEE (FEZ: ) 26 3 54.13
6. = #&Nn  WLEsE ) 10 2 1:18.32 6. F#F EE (KRABFX=E ) 20 1 53.12
7. FTHHEKREE (KTPDAH ) 9 4 1:2527 1. MH#F BE (£HFESC ) 14 2 53. 50
8. WA B# (ALKIz7H7 ) 10 5 1:25.37 8. MF HEE (FHHAEEZEALLLY ) 15 9 56. 52
9. ( ) 9. AE (KTPD3H ) 16 5 55. 22
N. 5 ZF 100m N~N2754 TiE
Bs08%  59.82 £524% 1:00.82
3%H EIE By 1# EHIE A ]
1.8 EA (KTPEIMFA ) 10 7 1:21.52 1. ( )
2. Bl ##H (EHFESC ) 13 2 1:09.89 2. ( )
S mMAKRKLEER (£5IscCc ) 12 5 1:19.02 3. ( )
4. il MK (KTP2%H ) 1 K& 4. FKR ¥EF (3/UFEH#F ) 10 3 1:46.97
5. k%t KE (FBIKf8He ) 13 1 1:08.49 5. &% MR (£HFEsc ) 11 1 1:16.24
6. IBE ENH (W LEE ) 11 3 1:12.18 6. HK BE WLEZE Y 12 2 1:17.54
1. & BE (KTP=IF5 ) 1 EiE 7. ( )
8. EE R4 (EHFESC ) 10 4 1:12.65 8. ( )
9. B WE (FrHEIZESCL ) 8 6 1:20.41 9. ( )
4 %R ] i3] 248 & E H—*rﬁaEl
1.WE Bk (#5Zsc ) 13 6 1:12.46 1. RBINPE (BLWFo7 ) 13 8 1:17.2
2.5 BE (BHEWLWFH7 ) 12 4 1:08.78 2. 8#F BB (FREHrTHLPH 119 1:20. 32
3. AN HME (#F5Zsc ) 15 3 1:07.31 3. IuA #Mm (KTPHIFA ) 14 6 1:15.98
4. 2K EX (B8wWwrpo7 ) 12 2 1:02.68 4 HE EIHh (ALIZF7HY7 ) 14 5 1:15.68
5. Kk oIEE  (anoR) ) 14 K& 5. FHN &3 (F5M™7927 14 1 1:04.55
6. K&t B2 (3/8oXx)L ) 15 1 1:02.09 6. @ BER (a/\ fEHF ) 17 2 1:12.08
1. ¥R &KX WLEE ) 11 7 1:12.83 1. g 0B (BBWLWFHTF7 ) 14 3 1:13.55
8. it EBF (KTPD3BA ) 10 5 1:08.98 8. MR WA (BBWLWFY7 ) 14 4 1:15.12
9.8 RBXER (/8RN ) 12 EiE 9. 8K E=# (aNEH ) 12 1 1:16.40
N. 6 BEF 10m ~42754 T
BEP8%  53.70 £EE8%  53.99
5%H &I By 1# EHIE A ]
1.1\ H#E (a/\VEH ) 14 7 1:04.00 1. ( )
2. ;5 B (#52sc ) 13 EiE 2. ( )
3. BK K (HEBKKkE ) 15 4 1:00.33 3. ( )
4. ik A  (FFHAEEFESACL ) 13 3 59.52 4. k&t HKE (BIKf@HSF ) 13 3 1:17.62
5. EEA M  (FHIEACLWL ) 14 1 51.11 5. EH &3k (asfEH ) 13 1 1:10.66
6. K HD (EH=EESC ) 17 2 58.55 6. 5H [E#H (#5Zsc ) 13 2 1:16.81
7. ;HHEEEAKER  (TOY BOX ) 24 5 1:01.19 1. =t (W LEE ) 10 4 1:37.07
8. 1BA HE (EIAEHT ) 14 6 1:02.90 8. ( )
9./ # (KTPfI+5 ) 14 7 1:04.00 9. ( )
6 #f &EIE B R 248 &EIE =T
1. MR s (EHFESC ) 16 6 57.65 1. %% % (£H=Esc ) 16 8 1:07.02
2. kE,k BE (FFEEASALCL ) 14 7 57.84 2. B KR (EHZFEESC ) 12 6 1:03.55
3. HE BEH (KTPHMHA ) 15 EiE 3R EH (KTPIMFS ) 13 4 1:01.08
4. @ik E2A  (£H=ZEESC ) 16 3 96. 46 4. mhK BT (HEKHLE ) 16 9 1:13.98
5. E'F B (BHIZAZ ) 20 1 56. 23 5. BK BN (STHHE ) 25 2 54. 84
6. LEM BEk (/U EH ) 14 4 57.10 6. ¥ R (£HFEsc ) 15 1 54. 47
7.=8 BA  (a/vEH ) 19 8 57.88 7. BREEASR (KTPf=I+5 ) 16 5 1:01.40
8. X BEXK (KTPD3BH ) 15 2 56. 45 8. EH M (a/NEH ) 16 3 1:00.47
9. MK B  (BBWLWFHT ) 13 5 57.55 9. 5% HE (@BIKEHS ) 16 7 1:06.54




N. 7 HBF 100m HikZF FiE No. 10 %F 100m Fik&F R

Bs0s%  54.79 £icEk 56.86 BER42 1:10. 61 25248 1:10.89
148 EIE  BERE & IE H#F'Eﬁ
1. ( ) .88 HE (Fd8H1797P 12 8 1:271.9
2. ( ) 2. Eﬁlﬂu* (KTPD%A ) 13 6 1:26.81
3. ( ) 3. Z e (BEWFHYT ) 16 1 1:27.11
4 FE KB (KTPf=IF5 ) 11 3 1:40.88 4. :les FE W LEE ) 12 3 1:21.59
5. %2 #H# (¥5Zsc ) 12 1 1:28.73 5. mlE FFR (EFEX ) 22 1 1:11.58
6.5H =F (¥#5ZsSCc ) 9 2 1:36.91 6. ;EHA ;23-,—: W. L% ) 14 2 1:17.03
1. B8 B# (HLIZF7H7 ) 10 4 1:43.10 1. £ FE (RBIKEHS ) 17 4 1:22.38
8. ( ) 8. dtJil =B (£HFESC ) 15 5 1:23.76
9. ( ) 9. % HEXE (£HPESC ) 11 9 1:29.55
No. 11 EBF 100m FkFE B iR B
0P2%& & H ¥
IB=74% 1:00.98 £524% 1:01.82
2%# 58 By EIE E'TFFEE]
1."MA #Fii- (AL ) 12 6 1:19.02 1.0aE WE (BBLWFZ7 ) 9 9 1:32.5
2.5 BE (BWFHY7T7 ) 12 1 1:22.91 2. 4T BE  (3/80RJ)L ) 11 8 1:20 96
3. —H#H BEA (BBLWFHLTFT ) 11 4 1:11.90 3. EA K (ALKIZFHTFT ) 11 6 1:16.27
4 FH HE (KTPD2%A ) 14 3 1:11.10 4. EHE Hix (&@HFESc ) 15 3 1:12.20
b. &K M (KTPfI+5 ) 14 2 1:10.30 5. FIE B WLlEE ) 14 2 1:09.78
6. K IR (BHEWLWFHYTF7 ) 13 1 1:08.95 6. K G (EHPESc ) 17 1 1:08.76
1. 8 B (#52sc ) 13 5 1:12.87 7. $BME H (BBLWFYT ) 13 4 1:14.22
8. ANl Ml (¥52Zsc ) 15 8 1:24.00 8. THH HE: (£H¥ESC ) 14 5 1:14.43
9.l MK (KTPD3A ) 11 EiE 9. HpE ®BK (¥52sSc ) 10 7 1:29.69
No. 12 EBF 100m Fk&E AR B
IBE343 1:00.98 £52%% 1:01.82
38 ] i3] & E R R
1. ¥8@ H O (BBLWFOUT7 ) 139 1:11.44 1. 5@ ZEE (ZEs Y 17 7 1:10.52
2. F#k A (FHHEEZESCL ) 13 8 1:09.91 2. IBIFF XIE (BIKEHS ) 15 6 1:10.24
3. @A KA (KTPDBA ) 16 6 1:08.19 3. % F# (£ HFEScC ) 15 2 1:06.37
4. E#E E¥E (FHAZEACL ) 13 3 1:07.50 4. g —#H @u ) 29 OP 1:03.00
5. L E#H (HESKKE ) 15 1 1:04.26 5. luh ##E (& ) 31 0P 1:01.35
6. BF HiE (HES ) 18 2 1:05.93 6. ZH [BE (EBIKEHS ) 16 1 1:04.37
1. 8L HE (EBIKXKEHZ ) 17 5 1:08.03 1. ¥ #K (EBIKEHZ ) 15 3 1:06.82
8. Hem E#E (WLEE Y 14 4 1:08.01 8. A A (£HPESC ) 14 5 1:09.31
9. INE & (FHEZFEASCL ) 13 7 1:08.66 0. %TF T (a/xoRJ)L ) 15 4 1:09.14
N. 8 Z&F 400m EAAKRL— B A LR No. 13 ZF 100m HBHHFE B iR B
IBs04% 5:04.92 £35048% 5:04.92 Bs08%  57.18 =508k 58.86
148 EIE By EE A ]
1. ( ) 1.EX #H (@EBIXEHS ) 16 6 1:10.41
2. ( ) 2.8 EH (&HFESC ) 18 4 1:09.44
3. ( ) . RALLEHA (KTPDBA ) 13 5 1:09.99
4. HE E (A7 7 ) 14 3 5:43.42 4. p( B (BEWFHYT ) 12 3 1:09.23
5. MKk EEm (HES ) 16 2 5:11.33 5. EZ O (/v ) 10 9 1:11.68
6. £ BWE (KTPfI+5 ) 18 1 5:06.48 6. &)l TEE (#52sc ) 13 1 1:08.23
7. AR f1E (KTPD%A ) 15 4 5:47.19 1. 88 HE (FdHTHP 12 1 1:10.70
8. ( ) 8. mE EA (¥5CZsc ) 14 2 1:08.93
9. ( ) 9. % DB (BELWFHT ) 11 8 1:11.34
N. 9 EBEF 400m EAAKRL— B A LR No. 14 Z%F 100m HBHHF AR B
IBS74% 4:19.39 45048 4:32.99 Bsps%  57.18 Sicdk  58.86
148 b= ] i3] &EIE ﬁﬁ
1. ( ) 1. F EH (anVEH ) 129 1:07.2
2. ( ) 2.8 EFB W LEE ) 12 8 1:07.11
3. ( ) 3. BB #fE (W LlEmE ) 14 5 1:03.86
4. %O WA (W LEZE ) 13 2 5:14.32 4. "B BB W LEE Y 15 4 1:03.73
5. ZH BE (@BIKEHS ) 16 1 4:42.93 5. 2 B4 (HHEEASCL ) 15 2 1:01.35
6. £ ftE (KTPD3H ) 14 3 5:17.81 6. R FEMH (a/8ox)L ) 13 1 1:01.26
1. 5% hE (EBIKEHZ ) 16 4 5:22.53 7.5%0 &% (a/80R)L ) 13 3 1:02.84
8. ( ) 8. YA FN (W L& ) 12 6 1:05.26
9. ( ) 9. FE N (BIXKEHS ) 15 7 1:05.87




No. 15 SEF 100m HBHE# B iR No. 20 BF 100m #Hkz R
BECEk  50.72 =508k 50.84 BECEk  54.79 £i0fx  56.86
EIE H#Feﬁ EIE  FERE
1.=8 BN (a/nVEH ) 19 5 57.4 1.k AKX  (FHEEFESCLY ) 139 1:10.73
2. ZEBS M (FHHEIEESALCLWL ) 14 7 58.08 2. INE e (FFAEEACLY ) 13 3 1:04.79
3. MK B (BBLWFHT ) 13 8 58. 35 3. & Lw (BT XfEH#HE ) 17 6 1:07.87
4. FER EE  (HAEEFESCL ) 15 1 55.13 4. H# &% (FHHEEFAL ) 13 5 1:06.46
b. sk BKXK (KTPDAA ) 15 3 56. 32 5. #&LL EE%B (BEKEE ) 15 1 1:00.60
6. 3L ZA (EHFESC ) 16 2 56. 02 6. BF HE (HES ) 18 2 1:04.20
7. 5H RE (aNVEHF ) 14 4 56. 83 1. 3B EE WLEE ) 14 7 1:08.73
8. MA Mt (EHPESC ) 16 6 57.51 8. FM AKfE (KTPD%A ) 16 4 1:06.27
9. dt# fEE (FHHEEAL ) 14 9 59.45 9. MK BE¥  (BBULWFHT ) 13 8 1:09.60
No. 16 BEF 100m HBHHE# AR B No. 21 &F 400m HBHHEFE B A LR
2508k 50.72 2528 50.84 IBSR8% 4:14.49 £508% 4:25.84
EIE H#Fﬁ 148 EIE  FERE
1.BFT EH (EBHIZEXXE ) 20 8 55.8 1. ( )
2.0ME A (BEWFHYT ) 18 1 55.43 2. ( )
.M AKHE (KTPD%A ) 16 4 54.58 3. 5 £RA (axvw@#F ) 15 5 5:13.53
4.3k  HIE (FRE@E ) 26 OP 51.97 4. k% E%*F’ (KTPH=IF45 ) 18 2 4:31.47
5. #F 1#BE (KRAFXRZE ) 20 1 52. 39 5. BA TR (38R ) 13 3 4:46.67
6. ffm# 1% E (&HFESC ) 14 2 54.13 6. MKk EBE (HE=S ) 16 1 4:30.78
7. B ER  (BHIFEXE ) 19 3 54. 45 1. K% g WLEE ) 14 4 4:52.72
8. IhE 2 (FHAEFESALL ) 13 5 54. 63 8. FAX #Hixk (KTPfI+As ) 17 6 5:33.48
9. 80 XH#¥ (¥5Zsc ) 14 6 55. 41 9. ( )
No. 17 ZF 100m 422754 R No. 22 BF 400m BHEFE B A LGRS
Bsps%  59.82 £524% 1:00.82 B 574% 3:51.37 £52%% 3:53.99
& E Hé’rﬁsﬁ 148 EE R R
1. RBINPE (BLWFHU7 ) 13 9 1:18.4 1. ( )
2. BRE MR (£H¥ESc ) 118 1:17.80 2.58kDIEE (@R ) 14 8 4:56.39
3. HE Eh HKIZFHT7 ) 14 7 1:16.18 3. FW BHE (EIKEHS ) 17 5 4:28.17
4. g DB (BBWLWFYT ) 14 2 1:11.52 4. F1H HE @I KEHS ) 17 3 4:16.11
5. F5N (FBHI7H27P 14 1 1:03.93 5. @A EF (HEB&KKE ) 16 1 4:11.61
6. %M R (3/8VfEH ) 17 3 1:11.91 6. fRIFEAREE (BIKEHS ) 16 2 4:15.73
1. MR B (BWwrzo7 ) 14 4 1:13.34 1.7D By (TLAJEHF ) 17 4 4:23.16
8. WA #Mm (KTPIMF5 ) 14 5 1:13.94 8. IRJIl EH¥ (KTPHI5 ) 13 6 4:35.45
9. 8K =& (anvEH#F ) 12 6 1:15.9 9. KN FE (@BHIFKE ) 18 1 4:53.29
No. 18 EBF 100m /42754 REE No. 23 &F 200m EAARKL— i
Bs08%  53.70 2528 53.99 IBsP4% 2:23.91 £E8% 2:24.77
EIE By 1# EHIE A ]
1. FH 2k (a/82%EH# ) 13 8 1:10.90 1. ( )
2. 5% HE (RBIKEHS ) 16 6 1:04.27 2. ( )
3. EMEAEAE (KTPfI+5 ) 16 2 59. 96 3. kO B (&#¥ESc ) 8 4 23:28.46
4. EH ®E (/8 EH ) 16 4 1:00.97 4 A BE FHEFESAL ) 10 3 3:12.54
5. M% F#  (£HEESc ) 15 1 54.14 5. M EE (/8RN ) 10 1 3:03.49
6. IEXR BN (STHE ) 25 0P 53.79 6. EdhxoE  (BBWLWFH7 ) 11 2 3:08.63
7.3 EH¥ (KTPf=I(+5 ) 13 3 1:00.33 1. ]l B (FdH707 10 5 3:33.12
8. Hth MEp (£H¥ESC ) 12 5 1:03.82 8. ®BM *®FH (¥5Zsc ) 10 6 3:33.29
9. %8 =¥ (£H¥EsSc ) 16 7 1:04.80 9. ( )
No. 19 ZF 100m HEkF B A LGRS
IBS74% 1:02.98 45043 1:04.49
148 &IE i3] 248 & IE =]
1. ( ) 1. #2 (3/8o/)L ) 15 8 3:13.39
2. B2 (/R ) 15 T 1:26.33 2. 8fH#F BIE (FdEHKLTID 11 FEE
3.RIA Em (£HPESC ) 18 6 1:23.76 3. BEM E#& (a/8V4EH#E ) 15 5 2:55.05
4 INERSETY (/80N ) 13 4 1:19.11 4. BE BR (EHFEScC ) 11 3 2:50.83
5. NA EZE (HESKKE ) 16 1 1:07.03 5. A F (BIKEHS ) 15 2 2:47.43
6. A FA  (W.LEE ) 12 2 1:12.99 6. A HE (FHEHTUP 12 1 2:46.22
1. RAELLGHA (KTPD5A ) 13 3 1:16.39 1.8k BE WLEE ) 12 6 2:57.45
8. X EN (KTPD3BA ) 10 5 1:21.44 8. X EIM (KTPD3A ) 10 4 2:54.31
9. %E %7 (W LE%E ) 9 8 1:41.83 9. AFXMIF W LEE ) 13 7 3:07.81




No. 23 Z%F 200m @EAAKFL— FiE
IBE042 2:23.91 £508% 2:24.77
3%H EIE B 2# HIE A ]
1. 4L £ (£HFESC ) 15 4 2:45.88 .80 K¥ (¥52sc ) 14 8 2:07.80
2. % BHEZE (&HFESC ) 11 6 2:48.95 2. 1B #E @BIKEHS ) 17 3 2:01.11
3. BB FE (KTPDAA ) 14 5 2:48.77 3. B EF (HESRKE ) 16 EiE
4. E #fE (W.LEE ) 14 3 2:42.15 4. 5 ®|F (EILK Yy 20 5 2:02.60
b ik B2 (KTPfIF45 ) 18 1 2:30.18 5. MEH ER (BHIEX®E ) 19 6 2:03.16
6. O #£FE (a8 ) 13 2 2:38.09 6. H KE (£H¥ESC ) 14 1 1:55.86
1.5 E£A  (a/NvEHF ) 15 8 2:49.21 1. ZEB BE (EBIKEHS ) 16 2 1:59.84
8. BiMA Elﬁ (&H=Esc ) 18 1 2:49.10 8. RIFEKES (BIKEHS ) 16 4 2:01.25
9./h 8 B (BBEWFHT ) 12 9 2:55.12 9. 5@ & (/XU EH ) 14 1 2:04.96
No. 24 EBF 200m EAAKRKL— FE No. 26 %= F 50m FEKE FiE
IBS74% 2:02.52 £E08% 2:06.17 BE08%k  32.59 =Ee8k  32.59

11 #H ( ) EIE By 1# ( ) EHIE A ]
. 1.

2. ( ) 2. ERHMY (EHFEESC ) 8 5 59. 21
3. & EE (KTPf=IF45 ) 11 4 3:09.51 3. IE #H#E  W.LEE ) 9 EHE
4. FKRK BX GrE&Ktks ) 15 1 2:39.57 4. )l BEFE (KTP2%H ) 9 1 53. 46
5. AA X&® (£HPESC ) 12 3 2:58.99 5. ¥ F H&k (KTPD3A ) 9 3 54. 83
6. A F EE (KTPDAA ) 11 2 2:55.87 6. &K Bmm  WLEE ) 9 4 55. 23
7. 8 ‘F’J%‘B (&H#%ESC ) 10 5 3:13.50 1. MERBE (KTPEIFA ) 112 94. 30
8. @A BE (£HFESc ) 10 6 3:16.17 8. M E#E (KTPD%A ) 9 6 1:02.22
9. ( ) 9. ( )
248 ] Hé’rﬁaﬁ 248 & E H%ﬁa‘*l
1. 1B Z/ WLEE ) 11 9 2:56.8 1. BSINEIHE  (KTPF=MFs ) 12 9 94.5
2. 5K HtE (KTPfI+s ) 14 5 2:32.13 2. lRER —tf  (FHEZFEALLY ) 10 5 49.26
3. FEH K (a/ViEH ) 13 6 2:40.95 3. Edh&EoE  (BBELWFHYT ) 11 4 48.99
4. TN fiEE (EHPESC ) 16 2 2:26.96 4 HREKBE (KTP2%H ) 10 1 45.75
5. #AM H (BBWLWFHYT ) 13 4 2:28.64 5. lUAR W (KTPD3A ) 10 2 47.75
6. BZE FK  (a/UfEH ) 13 1 2:26.83 6. AR BT (FHHEEFESL ) 10 3 48.15
1. EH#H H¥E (KTPD%A ) 14 3 2:28.4]7 .58 #%%F (¥#5Zsc ) 10 6 49. 96
8. hnik B (KTPfFA ) 14 7 2:46.44 8. EA FFE (EHWFov7 ) 13 8 52. 86
9. 5% WA (EHFEESc ) 11 8 2:53.18 9. =@ BE (EHEESC ) 10 7 90. 90
3# 58 By 3#8 EHIE A ]
1. %0 shAN W LEE ) 13 7 2:25.71 1. BF#F E (bBsWLWFHYT7 ) 11 3 44.00
2.0 2A (EHFESC ) 16 2 2:23.34 2. P £ (/U EH ) 118 47.44
3. MR EEE  (FEIEACLY ) 15 3 2:23.59 3. W@ =l (YCUST )y 27 4 45. 01
4 TR AHE (KTPDBH ) 16 4 2:23.86 A FE B (KTPHIFS ) 156 1 45.57
5.k  ZHE (EE ) 26 K& 5. 55 Bk (KTPDAA ) 12 5 45. 35
6. AL EH (HERLLE ) 15 1 2:16.46 6. A FEMN (BELWFHL7 ) 10 1 42.17
7. BEEKRE (KTPf=I+5 ) 16 6 2:25.65 7. Ik 2 (WLmEE ) 11 6 45. 4]
8. IBIFF XIE (HBIKEEHS ) 15 5 2:23.93 8. & LB (BELWFHYT ) 11 2 43. 88
9. %% HF (EHF¥EsSC ) 16 8 2:28.10 9. Ik BT (TLAYEH ) 24 =iE
No. 256 EBF 200m HBHHEF FiE

IBS74% 1:51.28 £524% 1:51.70

148 b= ] B R 448 &EIE =]
1. ( ) 1./ mfm  (WLE&E ) 12 8 43.18
2. ( ) 2. KZHME (#52sc ) 111 42.10
3. HE X (anVEH ) 12 4 2:21.73 . A EHET (F5HHMhTHUP 15 6 40. 63
4. A KR (£HFEESC ) 12 EiE 4 FK EE WLEE ) 12 3 36. 03
5. MK B (BEWFHTFT ) 13 1 2:10.94 5. fh[E FiF (EFEKX y 22 1 34.22
6. dtE BE (FHEFEAL ) 14 2 2:11.02 6. ;A ¥E WLEZE ) 14 2 35.57
7. B2 IEK (assvfEH ) 13 3 2:11.80 7.4 =2 (£HFESC ) 15 5 40. 14
8. HR EBE (BHWLWFH7 ) 12 5 2:30.33 8. BEHMILIE (KTPD%H ) 13 4 39. 69
9. ( ) 9. AFXMIF W LEE ) 13 9 44. 82




No. 27 BF 50m EkE FiE
BE08k  28.40 SEcdx  28.85

148 EIE  FERE
1. ( )

2. ( )

3. ( )

4. 1R BN (KTPf=IF5 ) 8 2 1:02.59
5. BF #K (BEWLWFHYT7 ) 10 KA
6. k% FE (KTPD2%HA ) 9 1 56. 70
1. BA B (KTPD5BM ) 7 3 1:03.09
8. ( )

9. ( )

248 EIE B
1. HmE BF (KTPf=IFs ) 11 £
2. *mEE R (asveH ) 8 7 1:02.19
3. ME E&% (KTPfI¥5 ) 9 6 1:00.62
4. \LEFE EFE  (FHAEZFESCLKL ) 9 4 57.49
5. fnE &% (W LEE ) 9 2 52. 61
6. FH ME (KTP25%H ) 9 1 52.35
7. $AH B (BBLWFHYT ) 95 57. 61
8. IUA R (KTPD5A ) 7 3 54. 81
9. Mk EF (EHFEScC ) U K&
348 SIE  BERS
1.8 F (KTPD23%HA ) 10 6 53. 68
2. AOHKEA (BEWFH T ) 13 2 47.88
3.8k BHH (KTPD%AY ) 10 5 52.98
4. B BAx (¥5Zsc ) 10 3 52.29
5. vk #BA (BLWwrFo7 ) 13 1 47.25
6. %8H &= (/8 EH ) 10 8 55. 09
1. MR RE (FHEHNTHIP 10 4 52. 60
8. JIlk EOOWLEE ) 9 17 54.12
9. BR 1Bx (2 ox)L ) 10 K&
448 &5IE  BERE
1.0l K (KTPD3AA ) 11 6 48. 42
2.8%K BIK (KTPD%A ) 10 7 48.74
. &%FTF #HE (BBLWwrpoy7 ) 113 46. 04
4 EMKEER (£#5Zsc ) 12 1 45. 26
5. L B (BEWFHTF ) 12 .5 46. 43
6. lLFE BE (HLLIZF7HT7 ) 12 2 45. 45
1. 8588 &K (Bswroy7 ) 109 49. 28
8. A ZEAN (£H=*ESC ) 10 8 49. 03
9. /hNF8 BFE (KTPD3A ) 11 4 46.13
51 g5IE  BEAE
1.8F WE (FAREFEsSCL ) 8 9 47. 64
2. RH BT (&HFESc ) 10 _7 44.29
3. AmR HiE  (FHEIFEACLY ) 13 1 38. 66
4. FRK X W.LEE ) 11 4 40. 41
5. K& B (/N EH ) 14 3 40. 25
6. ERKREKE (KTPf=I+4 ) 11 2 39.78
1. 5% MK (£#52sc ) 10 .5 41.19
8. ;AR WE (BHEWLWFH7 ) 9 6 41.50
9. k% #E (WLEmE ) 11 8 45,37

64 HIE A ]
1188 A (KTPD2AHA ) 11 9 40. 46
2. H5ZE WA (&H=EEsc ) 11 8 39.14
IR E¥ (KTPfIts ) 13 6 36. 86
4. FR ER (FHHEESCL ) 15 1 33. 96
5. @A BUK (L2777 ) 11 2 34.32
6. T8 H"E (£H=ZFESC ) 14 3 34. 45
1. h#k @K (FHHEEFESALCL ) 13 4 34.70
8. K EK (BBLWFHY7 ) 125 36. 07
9. EA R&E (£HFEScCc ) 10 7 39.03
7 %8 &8 E#ﬁﬂ
1. 8F £/ (TOY BOX ) 26 OP 35.8
2. B#E Hix (&HFEsc ) 15 8 33. 96
3. BH A (&H=FESC ) 14 6 32.36
4. BEK B (EHFEESC ) 17 3 31.09
5. ludr #iE  (RE ) 31 1 28. 28 KE£H
6. T8 F& (£HFEScC ) 15 2 30. 75
7. ZFE B WLEE ) 14 5 32.25
8. :um X (BEE ) 16 4 31.64
9. A& M (YCUST ) 26 17 32.42
No. 28 %&F 50m NETSA i3
Bspdk  27.37 £i08k 28.36

11.%ﬂ ( ) & E R R
2. 5@ miE (BEWFHYTFT ) 10 6 48. 61
3. EHl BE (£HFEESC ) 10 5 47.29
4. L@ & (#5Zsc ) 10 2 42.85
5. MR A (KTPD3BH ) 11 3 4423
6. k< KEBF (£52sc ) 111 41.50
7. RE —t  (FEIZESLLL ) 10 4 46. 88
8. & D8 (FHHAESLL ) 10 7 49. 44
9. aFXxmMEF WLk ) 10 8 5424
2# EHIE A ]
1. AILEFEE  FFEESCL ) 10 5 42.10
2. k0O B (£#%¥Esc ) 8 3 41. 80
3. & E¥&% (anvEHF ) 10 K&
4. M FLH (¥#5sc ) 10 6 42.28
5. A & (ansoR) ) 111 40. 88
6. LA EH (KTPD2%A ) 10 2 41.68
1. MAx #H%E (&H*¥Esc ) 9 4 42.00
8. MlF HME (FHHEEZESALL ) 10 7 43.98
90 MIBTH W LESE ) 9 8 44.30
3#8 EIE  FERE
1. 2l ZF WLEE ) 12 9 37.50
2. 8% k¥ (¥#5Csc ) 118 36.13
3.5/Kk BE WLEZE ) 12 4 33.98
4. BER Z (KTPD%A ) 12 6 35.38
5. RABINMBE (BEWFH7T7 ) 13 2 33. 46
6. TF MR (£HF¥Esc ) 11 3 33.94
1. FK EH (anvEHF ) 12 1 32.63
8. %A =T W.LEZE ) 11 5 34.20
9. mA FWN (BEWFH7 ) 10 1 35. 85




No. 28 &F 50m NZ2T754 & No. 30 &F 50m EHik¥E T
Bitex  27.37 =508k 28.36 BEtEx  29.27 SiiEx 29.84
4 %8 EIE B 1# HIE A ]
LNk B (BBWFO7 ) 12 8 34. 61 1. ( )
2. 8F# BB (FdsHrToPn 111 34.39 2. ( )
. MR W (BBWLWFHT ) 14 3 30. 67 .Mt HE (KTPD3%A ) 9 6 57.24
4. mMEE DB (BBWTFHT ) 14 4 31.45 4 WA BE (KTPD3A ) 9 3 51.56
5. FNIl 2 (FE2BH0T7H97P 14 1 28.39 5. A #% (£HPEScC ) 9 1 48. 35
6. t&X FE FEBIKXKEHS ) 17 2 29. 85 6. BREME (FHHEACL ) 10 4 51.60
7. 5@ BB (asyiEH ) 17 5 31.56 7. B0 $#E (KTPD%H ) 9 5 53. 61
8. IuA #Mm (KTPFIF5 ) 14 6 32.98 8. wil wY (BWwros7 ) 11 2 50. 88
9. BHE HE (FdMr7TIP 12 9 35.52 9. ( )
No.29 BF 50m 2754 Fi&
Hitdk 24.54 SEef% 24.54
148 EIE By 2# EIE A ]
1. ( ) 1. =281 BE (EH¥ESsc ) 10 8 51.03
2. ( ) 2. 8% BWM (¥5Zsc ) 9 17 48.67
3. ( ) 3. ;B Dk (BBELWFYT ) U i
4. 1LhE 1B (FHHEBFESAL ) 9 3 49. 27 4. AILEFREE (FEZESLCL ) 10 3 43.70
b. {FiE XBBE (KTPfIF4 ) 11 2 47. 43 5. A% BEF (FEEZEASCL ) 10 2 42.59
6. f0A EF (WLEE ) 9 1 46. 46 6. HIREKE (KTPD3H ) 10 1 42.56
1. XA FE (FBHIFXE ) 18 EE 1.8 B¥ (£dmMh797 10 4 45.34
8. ( ) 8. XA 51 (WLmE ) 9 5 47.01
9. ( ) 9 HJIl BE (581707 10 6 47.29
248 ] i3] 3#8 & E R R
1./MR RE (FH0M797 10 9 47.35 1.5 E£KE (aNVEHF ) 10 .8 44.92
2. 1B EE  (WLEE ) 10 8 46. 23 2. & HWkx (KTPD3%A ) 12 6 41.33
3. ANl KBS (W.LE% ) 9 6 42. 47 3. BA EBE (FHEMTIP 13 EiE
4. = A W LEE ) 10 1 39.06 4. 7t BF (HLIZFHT ) 14 3 35. 89
5. & BiE (KTPH=ITA ) 11 3 40. 64 5. AEH EZE (BEStks ) 16 1 30. 14
6. B2 ZEA (KTPfI+5 ) 10 2 39.76 6. IEM BN (W LE&E ) 12 2 32.61
1. @8 E (¥5Zsc ) 10 b 41.37 1. RAELGH (KTPDAA ) 13 4 36. 03
8. A ®BHF (KTPD%A ) 10 4 40. 88 8. KX EN (KTPD5%A ) 10 5 37.27
9. L% F&E (WLEE y 11 7 44.18 9. — MW= (BBWwroT ) 12 1 41.51
No. 31 BF 50m EHikE FiE
BEtgk  25.76 SEf 27.31
3# 58 By 1# EHIE A ]
1,487 WE (HEZFESHCL ) 8 9 38.77 1.\ Fi (KTPD%A ) 7 8 1:02.34
2. A5 wA W LmEE ) 11 8 38.07 2. i EHF (EHFESc ) 11 6 1:00.92
3. AH A® (&#H¥ESC ) 12 5 35.98 3. WKW BA (KTPfIM+4s ) 8 7 1:01.01
4. F@E X (BEWFoT7 ) 11 4 35. 96 4. 5 i (anNvEHF ) 7 3 96. 30
. bkt EHF (KTPD23BH ) 10 1 32.58 5. IR R (KTP25M ) 7 1 46. 84
6.2H EH (¥5Zsc ) 13 2 33.82 6. INA A (BBLWFHT7 ) 13 2 46.90
1.AT EE (KTP2%A ) 11 .3 3420 LE  E (WLEXE ) 9.4 56.32
8. 1B EN (WLmE ) 11 6 36.98 8. EH E# (KTPfI+s ) 10 5 59. 31
9. luE @\  (HLIZF7HT7 ) 12 1 37. 11 9.ME B&F (KTPfI+s ) 11 9 1:03.50
4 %R ] B 248 &EIE =]
1.5T BE (a/vR)L ) 11 9 33.47 1. H ZA (EH¥Esc ) 108 46. 65
2. A KR (&HFESC ) 12 5 28. 61 2. 5Nl ®ZE= (£F5Zsc ) 12 3 43. 21
3. EEEAER  (TOY BOX ) 24 6  28.77 3. A W (WLlm%x ) 10 6 44.75
4. B & (HEEACL ) 13 1 26.54 4 FTHRHAER (KTPD%A0 ) 9 4  43.65
b. BREEAES (KTPFI+5 ) 16 2 26. 96 5. BNl #@#H (EHFESC ) 10 2 43.16
6. HF IHEH (KTPfI+s ) 15 3 27.74 6. KA BAK (KTPD5%A ) 13 1 .01
1. MR e (&HFESC ) 16 4 28. 21 1. 5B =F (¥5Zsc ) 9.1 44.79
8. WE ¥ (&H¥ESC ) 16 7 28. 88 8. lEN MEE  (W.LE% ) 10 9 49. 95
9.fnEE B (KTPfI+5 ) 14 8 31.76 9. kH ®BF (KTPD%A ) 10 5 43.72




No. 31 BF 50m &EikE FiE
Bstsk 2576 £igEk 27.31
3+ &8 H#Feﬁ
1.7 XBE (KTP7I+45 ) 10 8 42.6
2. Bl ##H (EHFESC ) 13 5 3&m
3. BH XE (&H=FEsc ) 12 1 39.43
4. ANl tHEm (F5Tsc ) 15 4 38. 36
5. —H BKA (BELWFH7T ) 111 33.74
6. MR F{Z (3R ) 12 2 35.02
7. EEIRAE (BEWFHL7 ) 14 3 35. 81
8. BR & (HEAZEALL ) 12 6 39. 40
9. Nk K#  (FHEIEZFESCL ) 9 9 42. 66
448 &5IE  BERE
1. A% B (@/ox)L ) 15 9 31. 86
2. BkEH EE (W LEE ) 14 8 31.70
3. E&R E#E  (FHEIEACLY ) 13 7 31.43
4 KX &K (HES ) 18 2 30.17
5. b% ®HiiE  (BES ) 18 1 29.94
6. L EH; (FHERHES ) 15 3 30. 22
1. 5l HE (EIKEHS ) 17 .5 31.24
8. ;ZHELAER  (TOY BOX ) 24 6 31.28
9. X BKXK (KTPD25%H ) 15 4 30. 39
No. 32 *=F 5om BHEF FiE
BE08%  26.37 S8k 26.43

148 EIE  BERS
1. ( )

2. ( )

3. EME B (KTPD23%H ) 9 3 45. 20
4. SF ®w{E (BsLWwro7 ) 10 1 43.22
5. @) Y (BEWFoTF ) 112 43.23
6. @B #HEB (&HFEESC ) 4 48.09
7. 8% #ET  WLlEE ) 9 EiE
8. ( )

9. ( )

248 EIE  FFRE
1. BINEIHE (KTPfI+5 ) 12 8 47.49
2. AR HE (KTPD2%HM ) 9 17 45.03
3. BREMNE  (FHAZEAL ) 10 5 44. 45
4. I Nk BF O (TLAYEF#E ) 24 EiE
5. IREF —tf  (FEIZFESCL ) 10 1 41. 21
6. EmMBE (KTPEIFS ) 11 3 42.74
1. 8FxME=EF WLEE ) 10 2 41.26
8. &K Bm (W LEE ) 9 4 43.82
9. ERHMY (EHFESC ) 8 6 45. 00
3 5B BEAE
1.8 DB (FHEZFESLWL ) 10 8 42.08
2. & #E (¥5Zsc ) 10 9 44. 60
. HIl BE (FdM7H P 10 6 41.35
4. Z%E K W LEsE ) 9 4 39.79
5%% B (#5Zsc ) 9 1 38. 36
6. LM & (#5Zsc ) 10 2 39. 31
1. Mg WLEE ) 9 3 39. 35
8. MA &% (&H=¥Esc ) 9 17 41.87
9. =81 BE (&HFESC ) 10 5 40.18

4

6

7

oS~ — .‘°9°.\‘.C”F"':'>F~’!\’—‘ co~wouawNn =Y .“79°.\‘.°’F"'.">.°°!\’—‘

oW~

e

I BE
EH FK
BN &
A #&7E
MR I
&R KEF]
wA %
H 7k *//5'.
:I:J” E JF/

&

)| mh
mILE R E
=
BHF =
BAERMIF
Nkt =
"R 2E
5 3%,&'
AN BE

#H
P X5
AR BFMW
® B
*XHE %=
INGE EF
B KE
—# ZE
FE Dk
I\ EmM

#H

hiE %A
IR E
HE H#
FEAT BT LA
EBNBRE
BAR
BERK =R
B OAE
AZHE

(FrRZFEA W
(BBWTH7
(#5CscC
(R

(KTPD5A

(#5CscC
(&H=ESC
(a/NVEH

)
)
)
)
)
)
)
)

(F2ENTITD)

(fEMmNK
(%ﬁEEi?NS\ < L\
W.LF%E
(BBWF7U7
(W. LEg%

(W. LE%
(anxoR)L
(a/RUEH
(FrEZES W

(aNEH
(BBWFH7
(EMmNK
W. Lg%
(3R
(¥#5CscC
(BBEWFHT
(BBWFH7
(YCUST

(#5CscC
(BBEWFH 7T
(AN EH

(KTPD3MN

(BBWTHU7
(BIXEHE
(a/RUEH

(KTPD3MN

(#5CscC

(KTPD3MN

(EH=¥ESC
(B8BWNTH7
(BBWTH7
(BBWTH7
(xR
W. Lg%
(anEH
(&HZEESC

N N N N S N N N N N N N N

N N S N N N

ST

R
41.48

37.12

35. 56

32.59

34.28

34. 43

35.09

36. 05

o\l.hwl\:—amoocoﬁlil:

35. 97

ST

(:O\II\DChCﬂ—lt'.«.)-htomrjlk

ST

R
31.93

31.74

32.34

31.48

32.04

32.03

30. 94

33.43

OOQO—*Cﬂ@I\?\Iw.hﬁi#

33. 17

STH

=S|
31.67

30. 85

29.95

29.70

30.14

29.39

29.58

31.10

QO\II\D—‘C)‘IC»."-&(»OO]]ITJt

32. 40




No. 32 % ¥ 50m BHEF FiE
BSrsk  26.37 S8k 26.43

o# &EIE H#Feﬁ
1.8 #7€ WLEE ) 14 8 30.0

2. %A BB (WLEE ) 15 1 29.17
3. —1it (BELWFH7 ) 18 4 28. 63
4. FN 2Ej (FBM™MT797 14 3 28. 21
5. AEH EZE (HEBE&KKE ) 16 2 28. 01
6. f[E FiI (EFEKX ) 22 1 27.98
7. ki BE (KTPf=(+5 ) 18 4 28. 63
8. BiEg 4% (FTHEZESLCLY ) 15 6 28. 83
9. .5 MR (/v EH ) 17 9 30. 29
No. 33 EBF 50m BHE® FiE

BE08k  22.34 =E08%  22.58

148 & E B
1. 1t8 FE (KTPD2%H ) 9 4 49. 81
2. 8F #HKXK (BWFHTFT ) 10 6 50. 16
3. g EBAF (EH=EESC ) 11 17T 51.65
4 ME BH (KTPfI¥s ) 9 1 44.03
5 Ik ¥ (WLEZ ) 9 3 49.16
6. %5H MR (a/NVEH ) 8 2 45.92
1.5 st (ansvEHF ) 1 8 53. 74
8. ME B% (KTPfl+5 ) 11 5 49.83
9. @K B (KTPD2BHA ) 7 9 53.76
248 % IE ﬁﬁ
1. WA\ 2ZA (KTPfIFA ) 8 9 52.0

2. ¥HHE E O (BBWFHLT7 ) 9 5 4&%
A RE (KTPD3A ) 10 2 41. 40
4. JEN BBE WLmE ) 10 6 45. 64
5. f1H &% (W.LmEE ) 9 14 42. 46
6. %FF #FE (BLWwrFoy7 ) 113 41.85
7. ZFET HE (KTP2AHA ) 9 1 41.39
8. 5A E#& (KTPfI+s ) 10 7 46. 89
9. /\7|< RE  (anNvEF ) 10 8 49. 47
3#8 ] B
1.8k #8A (KTP23M ) 10 5 39.18
2. lUE B (FHEESACWL ) 9 T 40. 82
. HE |K (BELWFHT ) 12 1 37. 66
4. ANl KE W LEE ) 9 3 38.92
5. %8 #£{= (a/ 2 EH ) 10 2 37.95
6. %K BIX (KTPD%A ) 10 4 38.94
1.8 BAX (#52sc ) 10 6 40. 24
8. /MR RE (FdMrFTHLP 10 9 40. 99
9. ¥A\E W¥E (£5Zsc ) 9 8 40. 97
418 5IE  ERE
1&5 BHE (KTPD2%M ) 10 8 39. 00
2.8 EX (BB8WwWFov7 ) 10 .5 37.68
3. AOMKEA (BHWLWFH7T7 ) 13 4 37.44
4, KK &FE (ansoR)L ) 11 1 33. 31
5. %N %ZE (#5Zsc ) 12 3 37.04
6. A ZEAN (EH=ZFESC ) 10 6 38.14
7. THHEAREE (KTPDBMA ) 9 2 36. 42
8. BR B3} (asvR)L ) 10 1 38.20
0. XBB (KTPfIts ) 119 41.38

®
B

9

oS~ — CROA>AR™ LN = co~NouAawNn =D .“79°.\‘.°’.°".">.°°!\’.—‘Sn

oW~

E’ﬁ

=iE B
X2 =
HE B
a iE /get ﬂ
BE il
hnEE K
AR ME
i EH
B ES

&

AH BE
iE XE
N EEF
W7 AR
WiE B
IS Ea
=R ER
g FE4A
'R EE

%iﬁ
#5ER
K
D A
RE
X
K#

Bl i
BN #F
B8 RA
mHE WK
Y3 N
bt E&
Re B
& B
AT BB

#
Rk BiE
mEE &
22X HEX
BE K=
WE B
=A Ot
0O BAA
B A
MR HFE

W.LEE&E
(BEE
(W.LEag
(KTPT=IF4
(#5CscC
(%ﬁﬂiﬁﬁéx < L\
(BBWTH7
(#5CscC
W. Lg%

(&HZEESC
(KT PT=IF5
(KTPD3A
W. LRag%
(ALIZTHT
(W. LEag
(¥#5CscC
(BBWFH7
(FTHEZFEAS W

(KTPT=Il+45
(%ﬁﬂii?ﬁzS\ < l'\
(FTHEZEAS W
(&HZEESC
(KTPD3A
(&HZEESC
(&EHZEESC
(W. Lg%

(BEWFHT

(#5CscC
(BBEWFH 7T
(KTPD3MN
(#5CscC
(BBEWFH7T
(KTPD3A
(a/RUEH
(K T PT:(-}./S\
(KTPD3MN

(FTHEIZES L
(K T PT:(-}./S\
(BEWTOT
(FBIKfEFH P
(BBEWTFUT
(K T PT:(-}./S\
W.Lmg
(BBEWTFHT
(a/RUEH

N e N N N N N N N N S N N N N N N N N

N N N N S N N

ST

OO-hChI\D—‘OOCﬂQQ\IﬁiH:

ST

B
35. 41

31.13

33. 64

32.18

-hl\)(ﬂ—*@ulrjlk

32.76

K&

32.57

33.98

~ o

34.32

i
&

R
30. 21

31. 62

31.79

31.90

30. 33

30.95

31. 26

32. 65

OO WN N YO —
A

32.29

STH

C»()Ot’.«.)-h—*O‘|I\D\IQO]]ITL|It




No. 33 BF 50m BB T No. 36 Z&F 200m EAARKL— R
BEtsk  22.34 S8k 22.58 B 2042 2:23.91 £E08% 2:24.77
10#8 EHIE E#FEIE] EIE i35
1. 5 % (ansvEHFR ) 1209 29.2 1. BiA EFR (EHFESC ) 18 7 2:47.73
2. %K Bt (#5Zsc ) 158 27.74 2.8 FE (KTPD3H ) 14 9 2:53.27
. XEA M (FHHEEALCLY ) 14 2 26. 21 3. M HEE (FHHEMTHUP) 12 5 2:44.89
4 A XH  (EES ) 16 1 25.56 4 HE #fE WLEE ) 14 3 2:36.57
5. MA M (EHFESC ) 16 3 26. 35 5.k BRE (KTPHIFA ) 18 1 2:24. 54B 5%
6. k&% (EE (FHEAL ) 14 4 26. 52 6. O #EE (/8 0R)L ) 13 2 2:36.19
7. I8l KB (EBIKEHS ) 15 5 26. 66 1.4 =B (HZFESC ) 15 4 2:43.45
8. &K @K (BESKREE ) 15 7 27.28 8. AE P (BIKEHS ) 15 6 2:45.69
9. 5F hE (BIXEHZ ) 16 6 26.73 9. % HEEX (£HPESC ) 11 8 2:50.78
No. 37 BEF 200m BEAAKL R
IBS78% 2:02.52 £528% 2:06.17
1148 58 By EIE E'TFFEE]
1. hék A (GFEEZFESCL ) 13 8 26. 31 1. %A s (EH¥ESsc ) 16 8 2:27.7
2. B {ED  (EHFESC ) 17 4 25.93 2.%0 shA  (W.LEZE ) 139 2:32.50
. HE HEH O (KTPfIts ) 15 17 26.16 3. IBkE XKIE (BIKEHS ) 15 6 2:23.13
4. FH FRm (aNEHFE ) 16 5 25.98 4. MR EE  (HFEHESCL ) 15 4 2:18.59
5. =48 EBA (a8 EH ) 19 6 26. 04 5. L EH (HEKKEE ) 15 1 2:07.52
6. /NE g (FFAEESCL ) 13 1 24.70 6. &l 2N (£H=ZFESC ) 16 3 2:18.31
1. MK B (BEWFH7 ) 13 3 25. 82 7.0\ XE (KTPD%A ) 16 2 2:18.18
8. LM Mk (a/NUEH ) 14 9 26. 45 8. EAHAEAES (KTP7I+5 ) 16 5 2:20.22
9. 840 XH (£5Tsc ) 14 2 25.75 9 &2 Ik (asvfEH ) 13 71 2:25.66
No. 38 &F 200m FkZFE B A LGRS
B 2043 2:28. 36 £50%% 2:31.85
12# ] R 148 & E R R
1.#® 22X (2H¥ESC ) 16 9 25. 70 1. ( )
2. & | (EIXK ) 20 4 24. 51 2. ( )
3. MH 1BE (£HFESC ) 14 6 24. 91 3. ( )
4. Eﬁ AXE (KTPD3H ) 16 8 25.17 4. A 2T (FBBHMTFHP 15 3 3:08.89
5. 28 %%  (BSSC )y 22 1 23. 45 5. WE FiE (EFFEKX Y 22 1 2:36.34
6. KE #0#t  (BSSC ) 31 1 23.45 6. ;HA #E (W.LEZE ) 14 2 2:51.29
1. #E B2 (KRAEAFEXE ) 20 3 24.02 1. Bt (W LE&E Y 12 4 3:15.01
8. HIR A (BELWFZH7 ) 18 5 24.57 8. ( )
9. R EE (HHEEALCLWL ) 15 T 25.12 9. ( )
No. 34 %% 800m HBEHE¥ B A LR No. 39 BF 200m Fj)kFE B A LR
IBs74% 8:54.34 £E24% 9:03.95 IBE74% 2:14.56 £E04% 2:14.78
148 ( ) EIE By 1# EHIE A ]
1. 1. ( )
2. 5K #HK (KTPfI+A ) 17 3 11:29.42 2. T HRE (HFESC ) 14 7 2:46.71
3. MAX Exm (HES ) 16 1 9:26.77 3. EkF ¥ (WLms ) 14 5 2:35.40
4 B FER  (a/80R)L ) 13 2 9:35.83 4. 5T MIFE (a/8oR")L ) 15 4 2:33.96
5. ( ) 5. F&K #ZEK (EBIKEH= ) 15 1 2:23.00
6. ( ) 6. FE &A (EHFPESC ) 14 2 2:27.47
1. ( ) 1. %8 &R (HES ) 17 3 2:28.58
8. ( ) 8. E# Hix (EHFEESC ) 15 6 2:41.05
9. ( ) 9. ( )
No. 35 BF 1500m HHE# B A LGRS No. 0 Z&F 200m N\27T754 B A LGRS
IB574%15:20. 41 £504%16:09. 50 IBS74% 2:16. 87 £504% 2:20.30
11 #8 ( ) b= ] B R 148 &EIE B
, 1. ( )
2. ( ) 2. IUK #&m (KTPfI+A ) 14 2 2:56.13
3. ( ) 3. R FEHR (/NN ) 13 1 2:30.54
4. ( ) 4. ( )
5. ( ) 5. ( )
6. FKDIEE (/R ) 14 3 19:47.89 6. ( )
1. 2K ®BEE (HEBSHE ) 16 1 17:08.85 7. ( )
8. il B} (TLAvfEHF ) 17 2 17:53.29 8. ( )
9. ( ) 9. ( )




No. 41 BF 200m 22754 2 A LR No. 46 Z&F 50m FikFE B iR B

B 2043 1:59. 68 £504% 2:00.22 BE28%  32.59 fiHk 32.59
148 EIE RS EIE RS
1. ( ) 1. 857 ¥ (anNVEH ) 11 8 47.19
2. ( ) 2.7k B (KTPEIMHFS ) 15 3 45.05
3. ( ) . Mk (KTPD2%A ) 12 17 45. 74
4. ( ) 4. RARMIF (W LEZE ) 13 4 45. 28
5. (A M (HHEEALWL ) 14 3 2:23.26 5. F% LB (BEWLWFHYT ) 112 43.74
6. ¥ B (EHFEScC ) 15 1 2:02. 798 rh#H 6. BF E (BELWFH7T ) 111 42.99
1. 3N EH¥ (KTPf=F4s ) 13 2 2:15.63 7. lUE EM  (YCUST ) 27 0P 44. 81
8. HE E (BIKEHS ) 16 4 2:30.02 8. Ik = (WLEZE ) 11 5 45. 50
9. ( ) 9. HREEKE (KTPD%A ) 10 6 45.54
No. 42 Z%F 200m k= R A LR No. 47 % ¥ 50m FEKE ARRE
IHE0E% 2:18.25 =08k 2:21.56 BHiodkx  32.59 SEfx 32.59
148 EIE By EIE E'TFFEE]
1. ( ) 1./vAE B (W LEE ) 12 8 42.2
2. ( ) 2. KEHMEE (£#5Zsc ) 111 41.81
3. A EBE (FdHBHNTHP 13 6 3:05.26 3.4l =B (£HFESC ) 15 5 39.92
4. Kt BF (IALIZF7H7 ) 14 3 2:44.19 4. FXR EE WLEE ) 12 3 35. 91
5. NE =T (hEBE&KHE ) 16 1 2:27.35 5. WE FiB (EFEKX ) 22 1 33. 60
6. A FMN (W LEE ) 12 2 2:33.76 6. ;A ¥=E WLEE ) 14 2 35.22
7. INARRZETS (TR ) 13 4 2:44.28 7. BRFEILE (KTPD%A ) 13 4 38.33
8. BiA HEH (£H¥ESC ) 18 5 2:57.41 8. A 2T (FHHHMHT7HU7P 15 6 41.39
9. ( ) 9. %K BN (BLWwro7 ) 10 9 43. 45
No. 43 BF 200m Hik=F B A LGRS No. 48 B¥F 50m FEikFE B iR
IBE043 2:00. 23 £504% 2:02.52 BEE8%  28.40 fitk  28.85
14%H =] i3] & E R R
1. ( ) 1. EAK%kE (KTPHIMFS ) 119 40. 04
2. ( ) 2. EE RE (£HFESC ) 10 7 38.75
3. Bk@ E#E (W.LEHE ) 14 6 2:32.02 3.RII BB (KTPfI+s ) 13 5 37.09
4. FL BE EBIKEHS ) 17 2 2:21.9%4 4. bk K  (FFEEACL ) 13 3 34.79
5. ik BEK (KTPDAA ) 15 1 2:17.55 5. R BEK  (ALKIZFHT ) 1T 2 34.42
6. EX dsﬁ (KTPf=I+5 ) 14 5 2:31.59 6. Tod HE (HFESC ) 14 1 34.06
7. E# E8E (FHEAFEASL ) 13 3 2:26.71 1. 28K BEX (B8LWFo7 ) 12 4 36. 85
8. £ ME (KTPD%A ) 14 4 2:30.86 8. Ak EH#E (FFHEZESLY ) 13 6 38.73
9. ( ) 9. 52 WA (£HPESC ) 11 8 38.78
No. 44 %% 200m BEHEF B A LR No. 49 BF 50m EKE AR
HE88% 2:05.35 =E08% 2:07.01 HEefx  28.40 SECf% 28.85
148 EIE By EE A ]
1. ( ) 1.B# ®ix (£H=FESC ) 15 6 33.65
2. tdhEoE  (BEWFHT ) 11 8 2:46.18 2. @& HJ  (YCUST ) 26 OP 32.49
3. BB E2 (KTPD%M ) 12 5 2:34.45 3. ZikF ® o OWLEE ) 14 4 32.00
4. R+t = W LEE ) 14 2 2:17.36 4. FK HDL (EHFEESC ) 17 3 30. 67
5. A # WLEE Y 15 1 2:15.18 5. Wik ##E (FHE:E ) 31 0P 28. 46
6. %EH BB (WLE%E ) 15 3 2:19.43 6. M¥ FE (&HFESsc ) 15 1 30. 20
1. % HEEXE (£H¥EScC ) 11 4 2:27.80 1.0 X (BEE ) 16 2 30. 57
8. It & (WLE%E Y 11 7 2:38.07 8. AH %A (&HFESC ) 14 5 32.09
9. FK BEE (WLEmE ) 12 6 2:34.79 9. BR EE (FHHEESLCLWL ) 15 7 33.86
No. 45 EBEF 200m HHER R No. 50 %“&F 50m /NHTSA B iR B
B504% 1:51.28 5048 1:51.70 B2k 27.37 =E08%k  28.36
&EIE B ] EHE i35
1. k& BE (FHEFSWL ) 14 9 2:10.46 1. 5 ZF WLEE ) 129 36. 87
2. %EH ik (ansUEH ) 14 7 2:03.30 2.%K BN (BELWFHYTF ) 10 8 36.12
3. & ®EF (FEILXK ) 20 3 1:59.04 BB B (KTPD3AM ) 12 5 35. 26
4. 1B s EEIKEHS ) 17 4 1:59.09 4. #F BB (FBEHTHP 113 34.02
5. 1A E (£H=FESC ) 14 1 1:55 51 b.dK BEwE (W LEmE ) 12 4 34.27
6. %A BE (EBIKEHS ) 16 2 1:57.50 6. kA HET W.LEHE ) 11 2 33.77
7. tRIFEKRES (BIKEHS ) 16 5 2:00.73 7.0 E (BBLWFHYT ) 12 1 33.58
8. hA EER (fBHIZEKX® ) 19 6 2:02.10 8. WHE HE (FdMr7HrP 12 1 35.48
9. 80 X¥ (#5Zsc ) 14 8 2:07.18 9.8% KE (¥5Csc ) 11 6 35.35




No. 51 &F 50m N2 TSA A RBE No. 56 EBF 50m Hik¥E AR
B8k 27.37 £i08%  28.36 Bs28% 25.76 fiH 2731
EIE RS EIE RS
1. 2% BMR (EH¥Esc ) 11 8 33. 51 1. K#t rf;—.%a (a/8oR)L ) 15 17 31.73
2. IUAR #m (KTPfIl+s ) 14 7 32.89 2. L#R E¥E (HHEZEALCLY ) 13 5 31.35
3.8l KB (a/NVEH ) 17 4 31.317 3. FW I;|[.'§' (BRI XEHE ) 171 6 31.57
4. HR &E%B (B8WFH7 ) 14 3 30. 82 4. F\IL EBE (HEREEE ) 15 1 28.23
5 F E, (F2EMT7H97P 14 1 28.90 5. ift HE (HES ) 18 2 29.05
6. t&X HFE FEBIKEHS ) 17 2 30. 29 6. KA 18K (;51”“* ) 18 3 30. 14
1. EE O (BEWFHLTF ) 14 5 31.40 1. BE BXK (KTPD3M ) 15 4 30. 31
8. HA Ef (aNVEH ) 12 6 32.39 8. iZMEEAKER  (TOY BOX ) 24 OP 30.79
9. RANME (BBLWFH7 ) 13 9 33.82 0. M EHE®E W.LE%E ) 14 8 32. 26
No. 52 BF 50m /N2 TSA B iR No. 57 &F 50m B B iR
IBsR4%  24.54 &5 24.54 IBs28%  26.37 S50k 26.43
EIE By EIE A ]
1.48F WE (FHAEZFESHCL ) 8 9 38. 69 1. %@ T W.LEE ) 119 31.82
2. lUE #\E (A7 ) 12 1 36. 46 2. 85K EH (ansVEH ) 12 1 30.93
3. EH X® (£#H®ESC ) 12 4 34.85 3. 5mM BB (assVEH ) 17 3 29.92
4. A F HEE (KTPD2%A ) 11 3 34.57 4. HE #EfE  (W.LmEs ) 14 4 30. 04
5. #TF B®WE (3, o)L ) 111 32.68 5.% e (BBLWFHLT ) 16 1 29. 69
6.=H [E#H (£5Zsc ) 13 2 33.90 6. IR W (BHWF7oU7 ) 14 2 29. 91
7. @ X#M (BELWFH7 ) 115 35.50 1. mEgE DB (BEWFHUT ) 14 5 30.13
8. B EN WLEE ) 11 6 35. 74 8. % HWEX (£HFESC ) 118 30.94
9. A WK (WLEHE ) 11 8 37.66 9.4 E£AB (anx EH ) 15 6 30.92
No. 53 BF 50m /N2 TSA AR B No. 58 &F 50m HBfEF AR B
BE28%  24.54 Sk 24.54 Bspdk  26.37 fiHk  26.43
=] Eé’rﬁsﬁ & E Hé—fFHEI
1.8 BF (KTPD%A ) 10 8 33.1 1. K% g WLEE ) 14 9 30.0
2. B% 3% (&H¥ESC ) 16 6 28. 64 2. %A KB (WLEE ) 15 8 29.15
3. Bt HEp  (EHFESC ) 12 5 28.53 3. iklE ¥ (KTPfI+s ) 18 4 28.08
4. #+ WEH (KTPHFS ) 15 3 27.08 4. EN B (Fd0h797 14 1 27. 36
5. INE @m (FEEFEALCLY ) 13 1 26.10 5. mlE FR (EFEX ) 22 3 21.74
6. BREEAS (KTPTI+5 ) 16 2 26. 82 6. NEH EZE (HESHLE ) 16 2 27.63
1. MR s (EHFESC ) 16 4 27.36 1.2 —i (B8LWFH7 ) 18 5 28. 31
8. ZHEEEAES  (TOY BOX ) 24 0P  27.99 8. E& | (FrEZFESACLY ) 15 6 28.56
9. hnfk B (KTPfI+s ) 14 1 31.05 9. %0 #&£FE (R ) 13 1 29. 11
No. 54 % F 50m EikE RS No. 59 BF 50m BHE B iR
Bs38%  29.27 &5 29.84 Bsps  22.34 S50 22.58
EIE By EE E'TFFEE]
1. A8 &% (HAEZFEACK ) 10 8 41.75 1. B8 81 (HAZFEACWKL ) 14 8 26. 1
2. —# W (BBWwrFoT ) 12 1 41.25 2.=8 EBA  (as iEH ) 19 9 26.35
3. x ZE (KTPD3A ) 10 5 37.48 3. K fhi  (&HFESC ) 17 4 25.72
4. Kt BF (BALIZFHT7 ) 14 4 35.99 4. 80 XK# (£#5Zsc ) 14 3 25. 66
5. AR EZE (HEREE ) 16 1 30. 27 5w X (B8FE ) 16 1 25. 36
6. JEA RN (W.LEa% ) 12 2 32.85 6. Al ZEAN  (EHFESC ) 16 2 25.50
1. RAELLGH (KTPD3AA ) 13 3 35.59 1. MK B (BEWFH7 ) 13 1 26. 06
8. Bk MkXk (KTPD3AA ) 12 6 39. 62 8. TH MM (/8 EH ) 16 5 25. 96
9. HREEKE (KTPD%A ) 10 9 42.04 9. H+F HEH (KTPfI+s ) 15 6 26. 01
No. 55 BF 50m  HikE B iR No. 60 BF 50m Bk AR B
528k 25.76 ~E08%  27.31 B2k 2234 =E08%k  22.58
&EIE B ] EHE i35
1. 712 XE (KTP#IF45 ) 10 9 42.12 1.@8% KXE (KTPD%M ) 16 6 25. 05
2. BH XE®E (&H¥ESC ) 12 6 38.73 2. A 1BE (&HFESC ) 14 5 24.96
3. Al ## (&H¥FESC ) 13 7 38.92 3. MR 1&A (BBLWFHT7 ) 18 3 24. 36
4 MEEIEAKER (BBWLWFHT ) 14 3 36.35 4. #E 1EE (KREBFXE ) 20 1 24.04
5. —HF KA (BBLWFoT7 ) 111 33.94 5. 27 ##  (BSSC ) 22 0P 23. 69
6. A F{= (AR ) 12 2 34.80 6. KEF #n4st  (BSSC ) 31 0P 23. M
7. /)0 @ (¥52sc ) 15 5 37.56 7. 5@ =AM (EREILXK ) 20 2 24.13
8. BR W (FHHEEZFESAL ) 12 4 31.3] 8. /B & (FHEEFEACLY ) 13 4 2476
9. AKX BK (KTPD3A ) 13 8 40. 82 0. MR HEE (HHEESLLWL ) 156 7 25. 22




